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Sample question

(a) Study Fig. 1. Increase in size
of settlement,

population and

number of

services
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Fig. 1

(i) What is meant by the term ‘settlement hierarchy’? a
(ii) Give two examples of services found in villages. )
(iii) State three differences between the characteristics of services found in a village and a city. Refer to:

« order of services

* sphere of influence

« threshold population. 3)
(iv) Explain why people travel further to buy a television set than a newspaper. “)

(b) Study Fig. 2.

Fig. 2
(i) The settlement shown in the photograph grew as a fishing village.
Suggest three ways in which the land use is different now. 3)
(ii) Describe and explain the changes that will have occurred in the employment structure. )
(c) For atown or city that you have studied, explain the reasons for its growth and functions. )
(Total 25)
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